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[J OverloadTest.javapublic class OverloadTest {// 10 O OO U 0 O [
J0o0doo0oooodoooooooooooooa
[1 00 O public void fun(){System.out.printin("method fun in
OverloadTest, no parameter").}public void fun(float f)
{System.out.printin("method fun in OverloadTest, parameter type:
float").}public void fun(int i){System.out.printin("method fun in
OverloadTest, parameter type: int").}public void fun(int i1, int i2)
{System.out.printin("method fun in OverloadTest, parameter type:
int,int").}/ 0000000000000 0000O000O004
Jododododo/Juododououououod
Jod0ododododoUuoUdndn publicvoid
funl(inti, float f) {System.out.printin("method funlin
OverloadTest, sequence of parameters is: int, float").}public void
funl(float f, int 1) {System.out.printin("method funlin
OverloadTest, sequence of parameters is: float, int").}// 0 O O O O
Jdodododououououooooo/ooouo
Jo0d0o00odododododododododopublic
void fun2() throws TestException {System.out.printin("fun2 in



OverloadTest, exception: TestException").}public void fun2(int i)
throws TestException, TestExceptionl {System.out.printin("fun2 in
OverloadTest, exception: TestException, TestException1").}public
void fun2(float f) throws Exception {System.out.printIn("fun2 in
OverloadTest, exception: Exception").}Y/ 0000 00O OO0
OO0 0O fun O O //public void fun(int 1) throws Exception {//
System.out.printin("method fun in OverloadTest, parameter type:
Int, exception: Exception™).//}// 00000 OO O O fund O

LI //public boolean fun(int i) throws Exception {//
System.out.printin("method fun in OverloadTest, parameter type:
Int, exception: Exception, return: boolean").// return true.//}private
voidfun3){}//U 0000000 OOOODOO DO public void
fun3() { }public static void main(String[] args) {// 0 0O U 0O O O

[J OverloadTestd I 00 [J OO [ testt] OJ OO I // OverloadTest1] [
[J O O OverloadTest test = new OverloadTest1().// U 0O O O

[1 OverloadTest1] [0 O O 00 [0 OverloadTest1[] OverloadTest//
00000 O testld O O OverloadTest 0 O [

[J OverloadTest1 testl = new OverloadTest1().try {inti=1,j=2, m
=3.//0000 0 0O OverloadTest1 fund O // test.fun(i, m,
j).testl.fun(i, j, m).testl.fun().// 000000 OO OO O fun3()
[1 OverloadTestl] I (1 [ [0 [ priavte //test1.fun3().testl.fun3(i).}
catch(Exception e) { }}}class OverloadTest1 extends
OverloadTest{// J OO OJ OO OJ O funpublic void fun(int i, int m, int
n) {System.out.printin("Overload funl in OverloadTestl, parameter
type:int,int,int").}/ 000000000000 0O0O00O0O
JOo0oO00100Testl OO0 OODOOOUOOUOOOOOOOO



L1 00O 0O 0O www.100test.com



